/l Examen de fin d'études secondaires 2011, section B
uni t Unitl; // Informatique - Epreuve pratique - Corrig € modele
i nterface

uses
Windows, Messages, SysUtils, Variants, Classes, G raphics, Controls,
Forms, Dialogs, Grids, StdCtrls;
type
TForml = cl ass(TForm)
sg_nb: TStringGrid;
Ibl_prim: TLabel;
Ib_prim: TListBox;
Ibl_ncv: TLabel,
Ibl_nombres: TLabel;
btn_rempl: TButton;
btn_supp: TButton;
btn_prim: TButton;
btn_tri: TButton;
btn_quit: TButton;
pr ocedur e btn_remplClick(Sender: TObject);
pr ocedur e btn_suppClick(Sender: TObject);
pr ocedur e btn_quitClick(Sender: TObject);
pr ocedur e btn_primClick(Sender: TObject);
pr ocedur e btn_triClick(Sender: TObject);
private
{ Private declarations }
public
{ Public declarations }
end;

var
Forml: TForm1;

i npl emrent ati on
{$R *.dfm}

funct i on premier(n:integer):boolean;
var iinteger,;
prim:boolean;
begi n
i f n<2
t hen premier:=false
else if n=2
t hen premier:=true
else if n nod2=0
t hen premier:=false
el se begin

i:=3;
prim:=true;
whi | e (i*i<=n) and prim do
ifn nodi=0
t hen prim:=false
el se i:=i+2;
premier:=prim
end

end;
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pr ocedur e TForm1.btn_remplClick(Sender: TObject);
var ij.integer;
begi n
randomize;
for ii=0 tosg_nb.ColCount-1 do
for ;=0 tosg_nb.RowCount-1 do
sg_nb.Cells]i,j]:=inttostr(random(99)+1);
end;

pr ocedur e TForm1.btn_suppClick(Sender: TObject);
var c,i,jm,n:integer;
begin
for ii=0 tosg_nb.ColCount-1 do
for ;=0 tosg_nb.RowCount-1 do
for m:=0 tosg _nb.ColCount-1 do
for n:=0 tosg _nb.RowCount-1 do
i f (sg_nb.Cells[m,n]=sg_nb.Cells]i,j]) and not ((m=i) and(n=j))
t hen sg_nb.Cells[m,n]:=";
c:=0;
for ii=0 tosg_nb.ColCount-1 do
for ;=0 tosg_nb.RowCount-1 do
i f sg_nb.Cells[i,j]<>" t hen c:=c+1;
Ibl_nombres.Caption:=inttostr(c);
end;

pr ocedur e TForm1.btn_primClick(Sender: TObject);
var ij.integer;
begi n
Ib_prim.ltems.Clear;
for ii=0 tosg_nb.ColCount-1 do
for ;=0 tosg_nb.RowCount-1 do
i f (sg_nb.Cells][i,jJ<>") and(premier(strtoint(sg_nb.Cells]i,j])))
t hen Ib_prim.ltems.Append(sg_nb.Cells]i,j]);
end;

pr ocedur e TForm1.btn_triClick(Sender: TObject);
var ij,cand:integer;
begin
for k=1  tolb_prim.ltems.Count-1 do begin
cand:=strtoint(Ib_prim.ltemsJi]);
=i
whi | e(j>0) and(strtoint(lb_prim.Iltems[j-1])>cand) do begin
Ib_prim.ltems[j]:=Ib_prim.Items[j-1];
=1
end;
i f j<i  then Ib_prim.ltems[j]:=inttostr(cand)
end
end;

pr ocedur e TForm1.btn_quitClick(Sender: TObject);
begin

Application. Terminate
end;

end.
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